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You solved the case of the missing

MISSING
MAKSHMALLON BUNNIES
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marshmalow bunnies. It turns out
Rowdy Raccoon was the cuprit. He
ran fo the grocery store at sunset fo

grab some graham crackers and

chocolate. He planned fo have a

bonfre so he could make some
delcious s mores. Luckky, he was
feeing guity so he brought them back
fo share with al of us.
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Someone stole the
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wear did the marshmalloes go
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yoi38 3 eggs are all blue and orange.
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. am going to picnic.
2 great at finding eggs!




STUDENT JOURNALS
OH NO!

Someone stole the
MARSHMALLON

IES!
Help scg\gwtg mystery.

DESIGN a BUNNY

DESIGN a BUNNY |
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TASTE a BUNNY
SMORE :RIPTION

Survey 10 classmates and tally their opinion

Talies | Total |

:Yes

RESULTS

What was the most popular vote?
Which choice had the fewest votes?

BONUS ACTIVITIES!
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b m three hundred forty-five
7# 5 809 five thousand, €ight hundred nine
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m six thousand, fifty-four
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two thousang, eight

seventy-one thousand, three
hundred forty-five
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